
NEW TO RANGE 
2023-02  (BY PRODUCT GROUP)

 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

A001.Tie Rod End
A001.Rotbaşları (0010)
A001.Наконечники рулевой тяги
Rotule de direction
EXTREMO DE DIRECCION

1501057 TIE ROD END
rotbaşı, ön sol, iç
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
1-18h UNS RH

FORD E-150 4th Gen 08/09 - 08/14 FORD E-250 4th Gen 08/09 - 08/14

8C2Z3A130D

1501058 TIE ROD END
rotbaşı, ön sol, iç
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M18x1,5 RHT;L=226

Metal bearing; PAIR:1501022

FORD EXPEDITION 08/96 - 09/02 FORD F-150 (USA) 10th Generation 08/97-08/03

LINCOLN BLACKWOOD 08/97-08/03 LINCOLN NAVIGATOR & UN173, U228 05/97-12/06

2L3Z3A131AA

1502111 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M14x1,5

PAIR:1502112

FORD CROWN VICTORIA 09/97 - 12/12 FORD MARAUDER 08/03-11/11

FORD MERCURY GRAND MARQUIS 08/03-07/11 LINCOLN TOWN CAR III 09/03 - 12/11

3W1Z3A130BA

1502112 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M14x1,5

PAIR:1502111

FORD CROWN VICTORIA 09/97 - 12/12 FORD MARAUDER 08/03-11/11

FORD MERCURY GRAND MARQUIS 08/03-07/11 LINCOLN TOWN CAR III 09/03 - 12/11

3W1Z3A130BB

2602004 TIE ROD END 
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH, FRONT

Pair: 2602005

SEAT IBIZA IV (6J5, 6P1) 08/08-12/17 SEAT IBIZA IV SPORTCOUPE (6J1, 6 06/08-12/18

SEAT TOLEDO IV 07/12- SKODA FABIA III (NJ3) 10/14-

SKODA RAPID (NH3) 07/12-12/19 VOLKSWAGEN POLO VAN (6R) 08/14-

VOLKSWAGEN UP 12/11 -

6C0 423 811 A

2602005 TIE ROD END 
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH, FRONT

Pair: 2602004

SEAT IBIZA IV (6J5, 6P1) 08/08-12/17 SEAT IBIZA IV SPORTCOUPE (6J1, 6 06/08-12/18

SEAT TOLEDO IV 07/12- SKODA FABIA III (NJ3) 10/14-

SKODA RAPID (NH3) 07/12-12/19 VOLKSWAGEN POLO VAN (6R) 08/14-

VOLKSWAGEN UP 12/11 -

6C0423812A

3002027 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M10x1,5;M14x1,5

PAIR:3002028

VOLVO XC40 (536)  10/17 -

31 476 749
32 221 546
32 283 513

2023-02   (BY PRODUCT GROUP) 1 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

3002028 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M10x1.5;M14x1,5

PAIR:3002027

VOLVO XC40 (536)  10/17 -

31 476 748
32 221 545
32 283 511

3602086 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M14x1,5

PAIR:3602087

HONDA INSIGHT (ZE) 04/00-12/06

53542S3Y020

3602087 TIE ROD END
rotbaşı, ön sağ
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

RH
M14x1,5

PAIR:3602086/3602088

HONDA INSIGHT (ZE) 04/00-12/06

53541S3Y020

3602088 TIE ROD END
rotbaşı, ön sol
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH
M14x1,5

PAIR:3602087

HONDA INSIGHT (ZE) 04/00-12/06

53542S3YA00

4102131 TIE ROD END
rotbaşı, ön
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

BOTH SIDES
M14x1,5

INFINITY M30 08/90-12/92

4852010V25

5602084 TIE ROD END
rotbaşı, ön, dış
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

M14x2

CADILLAC ESCALADE 4th Generation G 09/14- CHEVROLET SILVERADO 1500 08/07-07/13

CHEVROLET SILVERADO 1500 08/14-08/18 CHEVROLET SUBURBAN 11th Generation 01/15-

CHEVROLET TAHOE 01/15- GMC YUKON  4th Generation 01/15-11/19

22868912

6001024 TIE ROD END
rotbaşı, ön sol, dış
наконечник рулевой тяги

Rótula barra de acoplamiento

Rotule de direction

LH

DODGE RAM 1500 08/02-08/09 DODGE RAM 2500 -3500 08/02-08/09

5086146AB
ES3625

A002.Ball joints

A002.Rotiller (0030)
A002.Шаровые опоры

Rotule de suspension

ROTULA

1503054 BALL JOINT
rotil, arka alt
шаровая опора

Casquillo cojinete, brazo oscilante

Rotule de suspension

REAR LOWER

FORD ESCAPE (USA) 08/01-08/07 FORD MAVERICK 02/01-

MAZDA TRIBUTE (EP) 03/00 - 05/08

EF9128500
YL8Z5500AC

2023-02   (BY PRODUCT GROUP) 2 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1503055 BALL JOINT
rotil, ön üst
шаровая опора

Casquillo cojinete, brazo oscilante

Rotule de suspension

FRONT UPPER

FORD CROWN VICTORIA 09/97 - 12/12 LINCOLN TOWN CAR II 08/98-07/11

LINCOLN TOWN CAR III 09/03 - 12/11

6W1Z3084B
6W1Z3085B

1904015 BALL JOINT
rotil, ön
шаровая опора, усиленная

Rótula de suspensión/carga

Rotule de suspension

BOTH SIDES
FRONT

L=65 mm

MERCEDES BENZ SL (R 231) 01/12 -

2313303000

1904016 BALL JOINT
rotil, ön
шаровая опора, усиленная

Rótula de suspensión/carga

Rotule de suspension

BOTH SIDES
FRONT

L=60 mm

MERCEDES BENZ SL (R 231) 01/12 -

2313305200

3804020 PITMAN ARM
pitman kol
шаровая опора

Rótula de suspensión/carga

Rotule de suspension

FRONT

MAZDA B SERIES UN 02/99 - 03/05

UH7132220

4204086 BALL JOINT
rotil, ön sağ, alt
шаровая опора

Casquillo cojinete, brazo oscilante

Rotule de suspension

RH
FRONT LOWER

PAIR:4204087

TOYOTA SEQUOIA 08/00-08/07 TOYOTA TUNDRA 08/00-08/07

4333039605

4204087 BALL JOINT
rotil, ön sol, alt
шаровая опора

Casquillo cojinete, brazo oscilante

Rotule de suspension

LH
FRONT LOWER

PAIR:4204086

TOYOTA SEQUOIA 08/00-08/07 TOYOTA TUNDRA 08/00-08/07

4334039485

5603034 BALL JOINT
rotil, ön üst
шаровая опора

Casquillo cojinete, brazo oscilante

Rotule de suspension

FRONT UPPER

CHEVROLET EXPRESS 1500 08/03- CHEVROLET TAHOE  2nd Generation 08/00-08/06

15047200 S1

5604047 BALL JOINT
rotil, ön sağ-sol
шаровая опора, усиленная

Rótula de suspensión/carga

Rotule de suspension

BOTH SIDES
FRONT

CHEVROLET COLORADO  1st Generation 08/04-08/11 GMC CANYON  1st Generation 08/04-08/12

15104111 S1
15104112 S2
89040242

A003.Track control arms
A003.Rotilli Kollar (0045+)
A003.Рычаги передней подвески
Triangle de suspension
BRAZO DE SUSPENSION

1205182 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT, LOWER

PAIR:1205183

BMW 6 Gran Turismo (G32) 06/17 - BMW 7 (G11, G12) 07/15-

31106861152

2023-02   (BY PRODUCT GROUP) 3 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1205183 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
FRONT, LOWER

PAIR:1205182

BMW 6 Gran Turismo (G32) 06/17 - BMW 7 (G11, G12) 07/15-

31106861151

1205184 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
FRONT, LOWER

PAIR:1205185

BMW 5  SERIES (G30, F90) 07/16- BMW 5  SERIES (G31) 07/17

BMW 6 Gran Turismo (G32) 06/17 - BMW 7 (G11, G12) 07/15-

31106861157

1205185 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT, LOWER

PAIR:1205184

BMW 5  SERIES (G30, F90) 07/16- BMW 5  SERIES (G31) 07/17

BMW 6 Gran Turismo (G32) 06/17 - BMW 7 (G11, G12) 07/15-

31106861158

1409105 TRACK CONTROL ARM
denge kolu, arka sağ-sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

BOTH SIDES,REAR

FIAT 500X   (334) 09/14- JEEP RENEGADE SUV (BU, B1) 07/14-

51939951
52025625

1905128 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

Pair: 1905129

MERCEDES BENZ S-SERIES (W222, V222, X222) 05/13 -

2223307101

1905129 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

Pair: 1905128

MERCEDES BENZ S-SERIES (W222, V222, X222) 05/13 -

2223307201

1905146 TRACK CONTROL ARM
rotilli kol, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER FRONT

PAIR:1905147

MERCEDES BENZ SL (R 231) 01/12 -

2313300941

1905147 TRACK CONTROL ARM
rotilli kol, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER FRONT

PAIR:1905146

MERCEDES BENZ SL (R 231) 01/12 -

2313301041

1905148 TRACK CONTROL ARM
rotilli kol, ön sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
FRONT

PAIR:1905149

MERCEDES BENZ SL (R 231) 01/12 -

2313303900

1905149 TRACK CONTROL ARM
rotilli kol, ön sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
FRONT

PAIR:1905148

MERCEDES BENZ SL (R 231) 01/12 -

2313304000

2023-02   (BY PRODUCT GROUP) 4 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

3605017 TRACK CONTROL ARM
rotilli kol, arka sağ-sol, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

BOTH SIDES
REAR UPPER

ACURA CL YA4 08/01-08/03 ACURA TL UA4-UA5 (2nd Gen.) 08/99-08/03

HONDA ACCORD VI (CK, CG,CH,CF) 03/97 - 11/03

52390S84A01
89048911
930030114

3609119 TRACK CONTROL ARM
denge kolu, arka sağ-sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR
LOWER

HONDA ACCORD X 01/14-

52370T2AA00

3709116 TRACK CONTROL ARM
denge kolu, arka
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR

HYUNDAI SONATA IV 03/98 - 05/05

5527038000

3709117 TRACK CONTROL ARM
denge kolu, arka, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR

HYUNDAI SONATA IV 03/98 - 05/05 KIA MAGENTIS I  (GD,MS) 08/01 -10/05

5525038000

3809061 TRACK CONTROL ARM
rotilli kol, arka sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR,RH

PAIR:3809062

MAZDA CX-5  (KE, GH) 11/11-08/16

KD3528350

3809062 TRACK CONTROL ARM
rotilli kol, arka sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR,LH

PAIR:3809061

MAZDA CX-5  (KE, GH) 11/11-08/16

KD3528300

3809068 TRACK CONTROL ARM
rotilli kol, arka üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR

MAZDA 6   3rd Gen (GJ1/GL) 08/13-10/17

GHP928C10

4209224 TRACK CONTROL ARM
rotilli kol, arka alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR

LEXUS LX  470  (J100) 08/98-08/07 TOYOTA LAND CRUISER 100 (J10) 08/98 -08/07

4871060070

4209225 TRACK CONTROL ARM
rotilli kol, arka sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR,RH
Year only 2002-2003

PAIR:4209226

LEXUS ES300   (XV30) 08/02-08/06 TOYOTA SOLARA 09/04-08/08

4873033080

4209226 TRACK CONTROL ARM
rotilli kol, arka sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR,LH
Year only 2002-2003

PAIR:4209225

LEXUS ES300   (XV30) 08/02-08/06 TOYOTA SOLARA 09/04-08/08

4874033080

2023-02   (BY PRODUCT GROUP) 5 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

4609003 TRACK CONTROL ARM
rotilli kol, arka sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR,RH

PAIR:4609004

PORSCHE CAYENNE (92A) 06/10- VOLKSWAGEN TOUAREG (7P5) 01/11 -

7P0501530

4609004 TRACK CONTROL ARM
rotilli kol, arka sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR,LH

PAIR:4609003

PORSCHE CAYENNE (92A) 06/10- VOLKSWAGEN TOUAREG (7P5) 01/11 -

7P0501529

4609005 TRACK CONTROL ARM
rotilli kol, arka üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR

PORSCHE PANAMERA  (970) 01/10 -

97033104700

4609006 TRACK CONTROL ARM
rotilli kol, arka
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR

PORSCHE PANAMERA  (970) 01/10 -

97033104300

4905004 TRACK CONTROL ARM
rotilli kol, sağ
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH
LOWER

Pair: 4905005

KIA RIO I  (DC) 08/00 -02/05

54501-FD000

4905005 TRACK CONTROL ARM
rotilli kol, sol
рычаг передней подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH
LOWER

Pair: 4905004

KIA RIO I  (DC) 08/00 -02/05

54500-FD000

5609137 TRACK CONTROL ARM
rotilli kol, arka üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR
Year only 2010-2014

CADILLAC ESCALADE GMT900 09/07 - 12/14 CADILLAC ESCALADE 4th Generation G 09/14-

CHEVROLET SUBURBAN 11th Generation 01/15- CHEVROLET TAHOE  3rd  Generation 08/07-08/14

CHEVROLET TAHOE 01/15-

20917465

6009089 TRACK CONTROL ARM
denge kolu, arka
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

BOTH SIDES,REAR

CHRYSLER PACIFICA 08/04-08/08

4743244AA
4743244AB
4743244AC

A005.Axial joints

A005.Rotmilleri (0020)
A005.Рулевые тяги

Rotule de direction intérieure
ARTICULACION AXIAL / AXIAL

1307034 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

FRONT
BOTH SIDES

CITROEN DS4 04/11 - PEUGEOT 308 SW (II) 01/14-

3812.F8

2023-02   (BY PRODUCT GROUP) 6 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1307039 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M16x1,5;M12x1;L=252 mm

1,6 16V HDI+VTR AUT. Version

CITROEN C3 I (FC,FN) 02/02 -10/09 PEUGEOT 1007 06/05 -

3812.E6

3607065 AXIAL JOINT
rotmili ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1.5;M18x1,5;L=186 mm

ACURA TLX 02/15- HONDA ACCORD IX (CU, CR) 12/12 -

53010T2BA01

3607069 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M16x1;M14x1,5;L=218 mm

HONDA STREAM 08/06-

53010SMA003
53010SMA013
53010SMB003

3607073 TIE ROD AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

M14x1,5;M14x1,25

HONDA ELEMENT 08/03-08/11 HONDA FR-V 02/05-

53521SVCA01

4107090 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;M16x1;L=286 mm

INFINITY Q45 01/02 - 06/12

48521AR000

4207112 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;M16x1,5;L=247,5 mm

TOYOTA VERSO 04/09 -

455100F061

5607073 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M16x1,5;M16x1,5;L=241 mm

BUICK ENVISION 02/16-

23272692

5607074 AXIAL JOINT
rotmili, ön
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;M14x1,5;L=285,5 mm

CHEVROLET BOLT EV 02/17-

42353788
42353792

5607077 AXIAL JOINT
rotmili, ön, iç
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

M14x1.5;M18x1.5;L=331 mm

Moog type RWD, Year only 1999/2000

CHEVROLET SILVERADO 2500 08/99-07/10 GMC SIERRA 2500 08/99-09/10

12471385
26059209
ES3489

6007038 AXIAL JOINT
rotmili, ön sağ-sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M16x1,5;M18x1,5;L=217 mm

DODGE CHALLENGER 01/16- DODGE CHARGER  7th Generation 08/11-12/16

68264312AA

2023-02   (BY PRODUCT GROUP) 7 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

A055.Axial joints (complete)
A055.Komple rotmilleri (0025)
A055.Рулевые тяги в сборе
Biellette de direction, comple
ARTICULACION AXIAL COMPLETA

2677011 AXIAL JOINT COMPLETE
komple rotmili, ön sağ
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

RH
Chassis no.to:6R-F-000 001

PAIR:2677012

SEAT IBIZA IV (6J5, 6P1) 08/08-12/17 SEAT IBIZA IV SPORTCOUPE (6J1, 6 06/08-12/18

SKODA RAPID (NH3) 07/12-12/19 VOLKSWAGEN POLO (6R1, 6C1) 06/09 -

6R0423810 S1
8Z04198810C

2677012 AXIAL JOINT COMPLETE
komple rotmili, ön sol
рулевая тяга

Articulación axial, barra de acoplamiento

Rotule de direction intérieure

LH
Chassis no.to:6R-F-000 001

PAIR:2677011

SEAT IBIZA IV (6J5, 6P1) 08/08-12/17 SEAT IBIZA IV SPORTCOUPE (6J1, 6 06/08-12/18

SKODA RAPID (NH3) 07/12-12/19 VOLKSWAGEN POLO (6R1, 6C1) 06/09 -

6R0423810 S2
8Z04198810C S1

A006.Stabilizer links
A006.Z-rotlar, Denge Rotları (0060)
A006.Стойки стабилизатора
Biellette de barre stabilisatrice
BARRA / ESTABILIZADOR / BIELETA

1208111 STABILIZER LINK
denge çubuğu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=317,2 mm

PAIR:1280112

BMW 3 SERIES (G20) 11/18-

31306893360

1208112 STABILIZER LINK
denge çubuğu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=317,2 mm

PAIR:1208111

BMW 3 SERIES (G20) 11/18-

31306893359

1208113 STABILIZER LINK
denge çubuğu, arka
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR
L=134 mm

BMW iX3  (G08) 01/20- BMW X3 (G01, F97) 08/17-

BMW X4 (G02, F98) 04/18 -

33556870702

1508154 STABILIZER LINK
denge rotu, arka
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR
L=109,5 mm;RS

FORD FOCUS IV (HN) 08/18-

1939550
G1FY5C486AAA
G1FZ5C486A

1508155 STABILIZER LINK
denge rotu, arka
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR
L=12,2 mm

FORD F-150 01/80 - 12/96

E0TZ5K484C

2023-02   (BY PRODUCT GROUP) 8 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1508163 STABILIZER LINK
denge rotu, arka sağ-sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR
L=225 mm

FORD F-250 SUPER DUTY 01/16- FORD F-350 SUPER DUTY 01/16-

FORD F-450 SUPER DUTY 01/16- FORD F-550 SUPER DUTY 01/16-

HC3Z5K484C

1508164 STABILIZER LINK
denge rotu, ön sağ-sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT
L=298 mm

FORD F-250 ,F250 SUPER DUTY 01/99-07/08 FORD F-350, F350 SUPER DUTY 01/99 - 12/07

FORD FOCUS IV (HN) 08/18-

2216271 S2
2286405
F81Z5K483BB

1513316 STABILIZER LINK
denge rotu, arka
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR,BOTH SIDES
L=387 mm

FORD F-250 ,F250 SUPER DUTY 01/99-07/08 FORD F-350, F350 SUPER DUTY 01/99 - 12/07

FORD F-450 SUPER DUTY 08/08-11/17

7C3Z5K484F S1
DC3Z5K484B

1908175 STABILIZER LINK
denge rotu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=284 mm

Pair: 1908176

MERCEDES BENZ SPRINTER (B907,B910) 06/18-

9103203000
A 910 320 30 00

1908176 STABILIZER LINK
denge rotu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=284 mm

Pair: 1908175

MERCEDES BENZ SPRINTER (B907,B910) 06/18-

9103203100
A 910 320 31 00

1908182 STABILIZER LINK
denge rotu, arka sağ-sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR
L=212 mm

MERCEDES BENZ SPRINTER (B907,B910) 06/18-

9073203600
A 907 320 36 00

1908183 STABILIZER LINK
denge rotu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=177 mm

PAIR:1908184

MERCEDES BENZ SL (R 231) 01/12 -

2313200789
2313200989
A2313200789

1908184 STABILIZER LINK
denge rotu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=177 mm

PAIR:1908183

MERCEDES BENZ SL (R 231) 01/12 -

2313200889
2313201089
A2313200889

1908185 STABILIZER LINK
denge rotu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=138 mm

PAIR:1908186

MERCEDES BENZ SPRINTER (B907,B910) 06/18-

9063201989
A 906 320 19 89

1908186 STABILIZER LINK
denge rotu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=138 mm

PAIR:1908185

MERCEDES BENZ SPRINTER (B907,B910) 06/18-

9063202089
A9063202089

2023-02   (BY PRODUCT GROUP) 9 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

2908046 STABILIZER LINK
denge rotu, arka sağ-sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

BOTH SIDES;REAR
L=95 mm

AUDI A8 (4E) 10/02 - 07/10 VOLKSWAGEN PHAETON 04/02 -

4E0505465E
4E0505465G

2908048 STABILIZER LINK
denge rotu, arka sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR,RH
L=200 mm;Chassis no from 4L8030301

PAIR:2908049

AUDI Q7 (4L) 03/06 -08/15 PORSCHE CAYENNE (955) 09/02 -

PORSCHE CAYENNE (92A) 06/10- VOLKSWAGEN TOUAREG (7LA,7L6,7L7) 10/02 -05/10

VOLKSWAGEN TOUAREG (7P5) 01/11 -

7L0505466B S1
7L0505466C S1
7L0505466D S1

2908049 STABILIZER LINK
denge rotu, arka sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR,LH
L=200 mm; Chassis no from 4L8030301

PAIR:2908048

AUDI Q7 (4L) 03/06 -08/15 PORSCHE CAYENNE (955) 09/02 -

PORSCHE CAYENNE (92A) 06/10- VOLKSWAGEN TOUAREG (7LA,7L6,7L7) 10/02 -05/10

VOLKSWAGEN TOUAREG (7P5) 01/11 -

7L0505465B S1
7L0505465C S1
7L0505465D S1

3008034 STABILIZER LINK
denge rotu, ön sağ-sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT
L=276,5 mm

VOLVO XC40 (536)  10/17 -

31658405
32221271

3008035 STABILIZER LINK
denge rotu, arka sağ-sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR
L=145 mm

VOLVO XC40 (536)  10/17 -

32221272
32221469

3608037 STABILIZER LINK
denge rotu, ön sağ-sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT
L=100 mm

ACURA INTEGRA 08/90-08/03 HONDA ACCORD III 11/85 - 12/89

HONDA CIVIC IV 09/87 - 11/95 HONDA CIVIC V 08/93 - 03/96

HONDA CIVIC VI 10/95 - 03/01 HONDA CR-X I (AF, AS) 10/83 - 10/87

HONDA CR-X II (IED, EE) 10/87 - 02/92 HONDA CR-X III (EH6, EG) 03/92 - 12/98

51313-SD5-000
90112-SE0-000
90112-SF0-000

3608107 STABILIZER LINK
denge rotu, arka sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR,LH
L=128 mm

PAIR:3608108

ACURA MDX 01/14-

52325-TZ5-A01

3608108 STABILIZER LINK
denge rotu, arka sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR,RH
L=128 mm

PAIR:3608107

ACURA MDX 01/14-

52320TZ5A01

3608111 STABILIZER LINK
denge rotu, arka sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR,LH
L=90 mm

PAIR:3608112

HONDA ODYSSEY  (RL3,RL4) 3st Gene 08/05-07/11

52321SFE013

2023-02   (BY PRODUCT GROUP) 10 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

3608112 STABILIZER LINK
denge rotu, arka sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR,RH
L=90 mm

PAIR:3608111

HONDA ODYSSEY  (RL3,RL4) 3st Gene 08/05-07/11

52320SFE013

3608113 STABILIZER LINK
denge rotu, arka sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR,LH
L=122 mm

PAIR:3608114

HONDA NSX Coupe (NA) 06/90 - 09/05

52320SL0013

3608114 STABILIZER LINK
denge rotu, arka sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR,RH
L=122 mm

PAIR:3608113

HONDA NSX Coupe (NA) 06/90 - 09/05

52330SL0013

3808073 STABILIZER LINK
denge rotu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=325 mm

PAIR:3808074

MAZDA TRIBUTE (EP) 03/00 - 05/08

E18134170

3808074 STABILIZER LINK
denge rotu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=325 mm

PAIR:3808073

MAZDA TRIBUTE (EP) 03/00 - 05/08

E18134150

3808076 STABILIZER LINK
denge rotu, arka
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR
L=75,5

MAZDA 3 (BK) 01/03 -08/09

B37F28170
B37F28170A
B37F28170B

4108090 STABILIZER LINK
denge rotu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

RH

Pair: 4108091

NISSAN INFINITY G35 08/04 -

54618-AQ300

4108091 STABILIZER LINK
denge rotu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

LH

Pair: 4108090

NISSAN INFINITY G35 08/04 -

54668-AQ300

4208081 STABILIZER LINK
denge rotu, arka sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

LH, REAR

Pair: 4208082

TOYOTA SUPRA JZA80 05/93 - 08/98

48840-14030

4208082 STABILIZER LINK
denge rotu, arka sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

RH, REAR

Pair: 4208081

TOYOTA SUPRA JZA80 05/93 - 08/98

48830-14050

2023-02   (BY PRODUCT GROUP) 11 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

4208169 STABILIZER LINK
denge rotu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=71 mm

PAIR:4208170

TOYOTA TACOMA (N1) 01/95 - 08/04

4882035040

4208170 STABILIZER LINK
denge rotu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=71 mm

PAIR:4208169

TOYOTA TACOMA (N1) 01/95 - 08/04

4881035020

4908064 STABILIZER LINK
denge çubuğu, arka
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR
L=95 mm

KIA SEDONA III (YP) 09/15-

55530A9000
55540A9000

5608082 STABILIZER LINK
denge kolu, ön sol
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,LH
L=292 mm

PAIR:5608083

CHEVROLET BOLT EV 02/17-

42514933

5608083 STABILIZER LINK
denge kolu, ön sağ
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

FRONT,RH
L=292 mm

PAIR:5608082

CHEVROLET BOLT EV 02/17-

42514934

6008054 STABILIZER LINK
denge rotu, arka
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR

CHRYSLER ASPEN (HG) 04/08- DODGE DURANGO  2nd Generation 08/04-08/09

52113285AA
55398928AA
55398928AB

6108042 STABILIZER LINK
denge rotu, arka
стойка стабилизатора

Travesaños/barras, estabilizador

Biellette de barre stabilisatrice

REAR
L=59,5 mm

JEEP CHEROKEE (XJ) 10/84 - 09/01

52001094
8952001094

A007.Wishbones
A007.Salıncaklar (0040-0060)
A007.Рычаги задней подвески, бумеранги
Triangle de suspension
BRAZO DE SUSPENSION

1109152 WISHBONE
salıncak, ön üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT
Year only 2011-2015

AUDI Q7 (4L) 03/06 -08/15

7L8407021

1209130 WISHBONE
salıncak, ön sağ-sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,BOTH SIDES

BMW 7 SERIES (F01, F02, F03, F04) 06/08 -12/15

31126854613

2023-02   (BY PRODUCT GROUP) 12 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1209131 WISHBONE
salıncak, ön, sol-sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,BOTH SIDES

BMW 7 SERIES (F01, F02, F03, F04) 06/08 -12/15

31 12 6 857 516

1209132 WISHBONE
salıncak, ön, sol-sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,BOTH SIDES

BMW 7 SERIES (F01, F02, F03, F04) 06/08 -12/15

31 12 6 854 614

1209135 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
From 09/2016, short ball pin:39,5 mm

PAIR:1209136

MINI MINI  COUPER (F55,F56) 12/13-

31126879842 S1

1209136 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
From 09/2016, short ball pin:39,5 mm

PAIR:1209135

MINI MINI  COUPER (F55,F56) 12/13-

31126879841 S1

1409104 TRACK CONTROL ARM
denge kolu, arka sağ-sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

BOTH SIDES,REAR

FIAT 500X   (334) 09/14-

52025628

1409110 WISHBONE
salıncak, arka sağ, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR,RH

PAIR:1409111

FIAT CINQUECENTO 11/91 - 02/98 FIAT SEICENTO 02/98 -

7663115

1409111 WISHBONE
salıncak, arka sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR,LH

PAIR:1409110

FIAT CINQUECENTO 11/91 - 02/98 FIAT SEICENTO 02/98 -

7663114

1509219 TRACK CONTROL ARM
denge kolu, arka sağ-sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR

FORD MUSTANG (USA) 01/15-

5R3Z4264AA

1509227 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH, FRONT
LOWER

Pair: 1509228

FORD F-150 (USA) 11th Generation 08/04 - 08/07 LINCOLN MARK LT 08/06-09/08

4L3Z3079BA
4L3Z3079CA
7L3Z3079C

1509228 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH, FRONT
LOWER

Pair: 1509227

FORD F-150 (USA) 11th Generation 08/04 - 08/07

4L3Z3078BA
4L3Z3078CA
7L3Z3078C

2023-02   (BY PRODUCT GROUP) 13 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1509254 WISHBONE
salıncak, arka sağ-sol
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

REAR,BOTH SIDES

FORD EDGE  (U387) 08/06-08/14

BT435500BA
BT4Z5500D
CT4Z5500B

1509268 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
Year only 1995-1997

PAIR:1509269

FORD CROWN VICTORIA 09/97 - 12/12 FORD CROWN VICTORIA 09/92 - 04/98

LINCOLN TOWN CAR II 08/90 - 07/97 LINCOLN TOWN CAR III 09/03 - 12/11

4009261
F6AZ3078AA
F7AZ3078CA

1509269 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
Year only 1995-1997

PAIR:1509268

FORD CROWN VICTORIA 09/97 - 12/12 FORD CROWN VICTORIA 09/92 - 04/98

LINCOLN TOWN CAR II 08/90 - 07/97 LINCOLN TOWN CAR III 09/03 - 12/11

4009259
F6AZ3079AA
F7AZ3079CA

1509270 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
Year only 2010-2012

PAIR:1509271

FORD FLEX 08/09-09/12 FORD TAURUS 6th Generation 08/15-

LINCOLN MKS 08/09-11/14 LINCOLN MKT 08/10-11/14

9A5Z3078A
BA5Z3078A

1509271 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
Year only 2010-2012

PAIR:1509270

FORD FLEX 08/09-09/12 FORD TAURUS 6th Generation 08/15-

LINCOLN MKS 08/09-11/14 LINCOLN MKT 08/10-11/14

9A5Z3079A
BA5Z3079A

1509272 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
With big bush, Year only 2010-12

PAIR:1509273

FORD FLEX 08/09-09/12 FORD TAURUS 6th Generation 08/15-

LINCOLN MKT 08/10-11/14

9A5Z3078A S1
BA5Z3078A S1

1509273 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
With big bush, Year only 2010-12

PAIR:1509272

FORD FLEX 08/09-09/12 FORD TAURUS 6th Generation 08/15-

LINCOLN MKT 08/10-11/14

9A5Z3079A S1
BA5Z3079A S1

1509274 WISHBONE
salıncak, ön sağ, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:1509275

FORD CROWN VICTORIA 09/97 - 12/12 LINCOLN TOWN CAR III 09/03 - 12/11

4W1Z3084RH S1
4W1Z3085
6W1Z3084B S1

1509275 WISHBONE
salıncak, ön sol, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:1509274

FORD CROWN VICTORIA 09/97 - 12/12 LINCOLN TOWN CAR III 09/03 - 12/11

4W1Z3084
4W1Z3085LH
6W1Z3085B S1

2023-02   (BY PRODUCT GROUP) 14 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

1509276 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
Year only 2002

PAIR:1509277

FORD THUNDERBIRD 01/02 - 05/12 JAGUAR S-TYPE  (X200) 10/98 -12/08

LINCOLN LS 08/00-09/02

XR 817609
XR 81806
XR 822851

1509277 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
Year only 2002

PAIR:1509276

FORD THUNDERBIRD 01/02 - 05/12 JAGUAR S-TYPE  (X200) 10/98 -12/08

LINCOLN LS 08/00-09/02

XR 817610
XR 81807
XR 822852

2909166 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

LH, FRONT
LOWER

Pair: 2909167

AUDI Q3 (F3B) 07/18 - SEAT ATECA (KH7) 04/16-

SKODA KODIAQ 10/16- SKODA SUPERB  III (3V3) 08/15-

VOLKSWAGEN ARTEON (3H7) 04/17- VOLKSWAGEN PASSAT  VII (3G2), VARIANT ( 08/14-

VOLKSWAGEN TIGUAN  (AD1) 01/16- VOLKSWAGEN TOURAN (5T1) 06/15-

3Q0 407 151 E
3Q0 407 151 F
3Q0 407 151 G

2909167 WISHBONE
salıncak, ön sağ, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

RH, FRONT
LOWER

Pair: 2909166

AUDI Q3 (F3B) 07/18 - SEAT ATECA (KH7) 04/16-

SKODA KODIAQ 10/16- SKODA SUPERB  III (3V3) 08/15-

VOLKSWAGEN ARTEON (3H7) 04/17- VOLKSWAGEN PASSAT  VII (3G2), VARIANT ( 08/14-

VOLKSWAGEN TIGUAN  (AD1) 01/16- VOLKSWAGEN TOURAN (5T1) 06/15-

3Q0 407 152 E
3Q0 407 152 F
3Q0 407 152 G

2909192 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:2909193

VOLKSWAGEN TRANSPORTER T5 05/03 -04/15

7H8407152B

2909193 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:2909192

VOLKSWAGEN TRANSPORTER T5 05/03 -04/15

7H8407151B

3609123 WISHBONE
salıncak, ön sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:3609124

HONDA CROSSTOUR 08/10-08/15

51360 TP6 C00

3609124 WISHBONE
salıncak, ön sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:3609123

HONDA CROSSTOUR 08/10-08/15

51350TP6C00

3809066 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:3809067

MAZDA TRIBUTE (EP) 03/00 - 05/08

E11234300C

2023-02   (BY PRODUCT GROUP) 15 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

3809067 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:3809066

MAZDA TRIBUTE (EP) 03/00 - 05/08

E11234350C

4209208 WISHBONE
salıncak, ön sağ, üst
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:4209209

TOYOTA TACOMA Pickup (_N2_) 08/04-08/15

4861004020
4861004021

4209209 WISHBONE
salıncak, ön sol, üst
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:4209208

TOYOTA TACOMA Pickup (_N2_) 08/04-08/15

4863004020
4863004021

4209222 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH
X-RUNNER

PAIR:4209223

TOYOTA TACOMA Pickup (_N2_) 08/04-08/15

4806804030 S1

4209223 WISHBONE
salıncak, ön sol, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH
X-RUNNER

PAIR:4209222

TOYOTA TACOMA Pickup (_N2_) 08/04-08/15

4806904030

5609126 WISHBONE
salıncak, ön sol
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:5609127

CHEVROLET COLORADO  1st Generation 08/04-08/11

15104111

5609127 WISHBONE
salıncak, ön sağ
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:5609126

CHEVROLET COLORADO  1st Generation 08/04-08/11

15104112

6009090 WISHBONE
salıncak, ön
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:6009091

DODGE RAM 700 08/03-12/17

68098045AA

6009091 WISHBONE
salıncak, ön
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:6009090

DODGE RAM 700 08/03-12/17

68093864AA

6109034 WISHBONE
salıncak, ön sağ, alt
рычаг

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,RH

PAIR:6109035

RAM PROMASTER CITY 01/15-

68263229AA

2023-02   (BY PRODUCT GROUP) 16 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

6109035 WISHBONE
salıncak, ön sol, alt
рычаг подвески

Barra oscilante, suspensión de ruedas

Triangle de suspension

FRONT,LH

PAIR:6109034

RAM PROMASTER CITY 01/15-

68263981AA

A008.Steering bushes

A008.Ön Aksam, Burçlar (50-70-90)
A008.Сайлентблоки рычагов

Silent bloc de suspension

BUJE BRAZO OSCILANTE O DE SUSPENSION

1500156 TRACK CONTROL ARM BUSH
salıncak burcu, ön sağ-sol, üst
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES,FRONT
57x14,2x53

For 1509179/80

FORD RANGER III (TKE) 04/11-

1723681 S1
1725696 S1
1727222

1900197 TRACK CONTROL ARM BUSH
salıncak burcu, ön, sol-sağ, alt
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT; BOTH SIDES; LOWER
43x14,1x73,5 mm

FOR 1909119/20

MERCEDES BENZ X-SERIES (W470) 09/17-

4703300700 S2
4703301000 S2

3600073 TRACK CONTROL ARM BUSH
burç
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

HONDA ODYSSEY  (RL5) 4th Generati 08/11-

51350TK8A00 S2
51350TK8A01 S2
51360TK8A00 S2

3600074 TRACK CONTROL ARM BUSH
burç
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

HONDA ODYSSEY  (RL5) 4th Generati 08/11-

51350TK8A00 S3
51350TK8A01 S3
51360TK8A00 S3

3600076 TRACK CONTROL ARM BUSH
salıncak burcu, ön sağ-sol
cайлентблок

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES,FRONT
42,1x12,2x52 mm

FOR 3609123/4;6709020/1

ACURA TL UA6-UA7 (3rd Gen.) 08/03-08/08 HONDA CROSSTOUR 08/10-08/15

51350TP6C00 S2
51360TP6C00 S2

5600076 TRACK CONTROL ARM BUSH
burç, ön
сайлентблок рычага

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT,BOTH SIDES
Ø37,3xØ14,2x44 mm

FOR 5609103/4

CHEVROLET SILVARADO 1500 08/99-07/06

22849591 S3
22849592 S3

6000063 TRACK CONTROL ARM BUSH
denge kol burcu, arka sağ-sol
сайлентблок рычага

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES,REAR
39,7x12,2x38 mm

FOR 6009089;6009126/7

CHRYSLER PACIFICA 08/04-08/08

4743244AA S1
4743244AB S1
4743244AC S1

6000064 TRACK CONTROL ARM BUSH
burç
сайлентблок рычага

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT,LH

FOR 6009090

DODGE RAM 700 08/03-12/17

68098045AA S2

2023-02   (BY PRODUCT GROUP) 17 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM



 ~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~НОВИНКИ КАТАЛОГА~YENİ ÇIKAN ÜRÜNLER~ أخبار كتالوج  ~

6000065 TRACK CONTROL ARM BUSH
burç
сайлентблок рычага

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FRONT,RH

FOR 6009091

DODGE RAM 700 08/03-12/17

68093864AA S2

FLYER-2023-02

2023-02   (BY PRODUCT GROUP) 18 of 18
STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM


